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AAPQ = ABPR (SAS &%)
AAPR = AQPB (ASA %)
/QPR = 120°

/PQB = /PAR

(APR = /QPB = 60°



A St SHPS 9] RIS EAFSH 50kg = W
offiet T i, BF77F 50kg = H= o<

Catge 24
alg.eo
Astn
A 600
50kgS dE= 4+ | 450
3 2 3
1 D 3 ® 3

1 1
® 3 @ ; ®

e
]



Q@ A=

I

o

B



A =7t v F e 22 AHE vlaste Hloll 7 et
A7

@® = @ =5 @ Ht

@ AGak ® Age] 27



@ A4}

® 34
® 34

=
=5

o] oyl u

o
N

15



2~
an

9.5

o

1

shol Lhetd &

S}

A

of Alegk

—_L

35
= AH

1

of

9]

~ 5
~ 10
ES

o) AF

o] AFEE 7.5 A7kol Tk

Mo

® E47F7F



® 5%

@ 60%

RS
Tod
—_—
~
5177r.
o 5
R
Tor
o B |5
ﬂﬂg =
‘,,l_ll ~ o
ﬂmLﬂ_ML M__._vooA322
=
o
w | LEEEE
o —~E ] o [
<
ol od = [
El%m.,_ %~ R R
WE | e
X o [ 2 [0
__o_|ﬂ|‘_
Gl

]
fis)
—

X
=t

A

i1
oL

b m
o} AL& A%kl 64

8.

® 50%

@ 35%

@ 10%



ol mjn
o 1
agild

~~
=0 S
ol [an}
B |t o
, .Ar\\ Y @5
. Y 2
! R o
=0 (A}
X 4 ™\ 0
B SN 5
n 1. N o
T ¢ —
Yo
N
P
<+ N © 0 © < o
\/mlw Ao} Ao} Ao}

Tor

] 10% ol et

o
=il

=0
__o_v

!

—

A

}o

X0

@ 30 7 ©]

A2 A €] 20% ol

Sk
ot

® 20 7 ©]A} 25 7l m|Ekel



Aol ' % A7

%l

o
}\gt'

)

90

70

80 100

//'

o0

60

o

=)
0.35
0.30
0.25
0.20
0.15
0.10
0.00

40

@ 15% ® 25% @ 30% ® 35%

D 10%



11.

Az ohe 24 4748 1o]

@ 174

@ 274

@ 471

® 67



12, o5 J"ANM 1)/ m 2 o, 2x o] 27127

O 10° @ 20° @ 30° @ 40° ® 50°



[e}
, F, G7FUTE 7 el HE T4 0T =2 B

E s
o, B 5 gl WHS BE V2H? (T HE, F, G = 243

Oh= 23 Zo] A P ol A A, B, C7F AL, ¥ Q Aol
a

O ™ ADEF @ ™ BEFG ® 3™ CDEF
@ ¥ CEFG ® W DEFG



14. ABEY 09 A8 M2 3 AC 9 &Ho|11, MDLAB, & AC 7}

1
A9 3 o o, 2/MEC 9] 3712

@® 30° @ 60° ® 90° @ 120° ® 150°



15. & I1"oA A ABCD = ¥ BC 7F A4 [ Qo] =] 91
AB =4cm , AD = 3cm , AC = 5¢m ©|th, o] ZAXAES AA [ &
mef QX0 2 S HkF S o A A 7 A A0

A .3cm-D

/1N 5em

4cm AN
\

B C !

@ 6mcm @ 9ncm @ 127cm

@ 157cm ® 18rcm



